1p 17 Which title fits the text best?
A Not everyone is a pet person
B Saving homeless dogs
C Sharing is caring

Tekst 8

1p 18 What happened to Curtis Whitson and his family during their camping trip
according to paragraph 1?
A They fell ill.
B They got stuck.
C They lost their way.
D They were injured.

1p 19 How does paragraph 2 connect to paragraph 1?
A It contradicts the point made in paragraph 1.
B It further explains the point made in paragraph 1.
C It summarises the point made in paragraph 1.

2p 20 Geef van elke bewering aan of die wel of niet genoemd wordt in alinea 3

en/of 4.

Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage.

1 Curtis Whitson en zijn gezin werden wakker van het reddingsteam.

2 Curtis Whitson had opgeschreven waar hij en zijn gezin gestrand
waren.

3 De vriendin van Curtis Whitson vond zijn plan een goed idee.

4 Het reddingsteam had moeite om Curtis Whitson en zijn gezin te
vinden.

1p 21 Why couldn’t the family be rescued straight after they were found
according to paragraph 57?
A Dbecause of bad weather conditions
B because the rescue team didn’t have the right equipment with them
C because there was not enough light to do it safely
D because there was only one helicopter available
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